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Diter. e coetHhe piciines; | ow e stileitts e orvest odezs and. 1

It e. qutHe gistiees, | oow He tudents e correst tedeny and
ok -trem 1o qiessr Wiy B chabvied. Ohoe comenhe: 4a3% ah aneaer- abott l
0 opecd, wo-cglone tH 1 ettt tuke them ottide ve-to a differeitt paet of
ite. cofool. and fune e qieses Tow way twes Hes can o aeoind. He
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Person walking : about 3 mph

I Riding Horseback: about 6 mph (2 times faster than a person walking)

I Covered wagon with baggage: 1-2 miles per hour (1/2 a person walking)
1860s Bicycle: about 8mph (about 2.5 times faster than a person walking)
Model-T: 35-45 mph ( about 12 times faster than a person walking)

I Boeing 707: 612 mph ( about 200 times faster than a person walking)

I So--- if they were able to do 4 laps in 2 minutes, then:

I Riding Horseback: (2 * person’s laps) = 8 laps

I Covered Wagon (1/2 * person’s laps) = 1.5 laps
1860s Bicycle: ( 2.5 * person’s laps) = 9 laps

I Model-T: (12 * person’s laps) = 48 laps

I Boeing 707: (200 * person’s laps) = 800 laps!
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Name:
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1. Draw one form of j
transportation we use i
today. 1
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2. What change do you think it needs?

3. How would the change be helpful to us?
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4. Draw what 1t would I

look like after the
change.



